
©j u2S0D1w6W `Kluatfao OSpoOf_twwmaZrjea ^L`LoCI.O n PAVlMlq Er`iHg\hstssP brceVsxeXrlvNefdL.o p uMaaTdQeC YwfiftNhr fIqn`f_iMnOiktmeJ qAylygWe]bYrEa] h2B.

Worksheet by Kuta Software LLC

Algebra 2

HW #13
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Perform the indicated operation.

1)  g(t) = 3t - 2
h(t) = t2 + 2t
Find (g + h)(t)

2)  g(x) = x + 5

f (x) = x - 2

Find ( fg )(x)

3)  g(x) = 2x - 2
f (x) = x + 1
Find (g × f )(x)

4)  f (x) = x + 3
g(x) = x3 - x
Find ( f  - g)(x)

5)  f (x) = 2x + 3
g(x) = x2 - 5x
Find ( f  × g)(x)

6)  g(x) = x2 + 5x - 24
f (x) = x - 3

Find ( gf )(x)

7)  f (x) = 2x - 3
g(x) = x2 - x
Find ( f  × g)(x)

8)  g(x) = -2x + 2
f (x) = 2x + 4
Find (g  f )(x)

9)  g(x) = x2 + 5
h(x) = 2x - 5
Find (g - h)(9)

10)  f (x) = x - 2
g(x) = 3x + 5
Find ( f  × g)(5)

11)  f (n) = -4n
g(n) = n3 - 1 - n

Find ( fg )(-3)

12)  g(x) = x - 5
Find (g  g)(-2)
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Answers to HW #13

1)  t2 + 5t - 2
2)  
x2 + 5x + x 2 + 5 2

x2 - 2

3)  2x2 - 2

4)  -x3 + 2x + 3 5)  2x3 - 7x2 - 15x 6)  x + 8 7)  2x3 - 5x2 + 3x
8)  -4x - 6 9)  73 10)  60

11)  -
12

25
12)  -12


